Acc.; Geometry ' Name \(’\ u }\

4.1 & 4.2 Practice Date

1. Supply the correct numbers to complete each sentence.
a. In an obtuze triangle. there are _);_ acute angle(s), __C__ right angle(z}, and
| obtuse angleisl,
h. In an acute triangle, there are % acute angle(s), right angle(s}, and
(O obtuse angle(s).|
c. In a right triangle, thére are J— acute anglels), \_ right anglels), and
(O obtuse angleis).|

2, Determine whether eachlstatement is alwavs, sometimes, or never true.
a. A right triangle is scalene. S oo
b, An obtuse triangle is isosceles. < omatSrvieo
¢. An equilateral triangle iz a right triangle. noo-€~
d. An equilateral triangle is isoscelez. oo

;:j/)

i

e, An acute triangle iz isosceles. omet

f. A szcalene triangle is dbtuse. Sormaiimeo

-+

3. Describe each triangle b*& as many of the following words as apply: acute. obtuse, right,
scalene, s::scefsfs. r equilateral.
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[dentify the indicated type of triangles. 5
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b. =calene : 9, obtuse
AAEB, A BCE LHEDB

% .. Find the measure of each side of equilateral ARST with RS = 2x — 2,.ST = 3u.
and TR = 5x — 4. ‘ L(

Q. Find the measzure of each SIdF' of isnscelea AABC with AB = BC if AB = 4v,
BC 3_\ + L. LDL‘.I&.C = .J_". ”‘)> ]))(h = B l»\ (A = ((—:



Find the measures of the sides of ARST and eclassify each triangle by its sides.

10, R0, 23, 512, 5), Ti4, 2

RS = m ST= \F‘g } RT= L/ Classification: /\\SQSC-@ (Q\

I, R(1, 3y, Sid, 7y, TV5, 41

RS= ST= \ﬂ_g RT= ﬁ Classification: G alosa_

Find each measure if msd = jus5. R
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Y. wmsh 20 V1 mih gy " 4

Find each measure if m£ZIDGF = 33 o A

and m£AGC = 40, ] 4F 1.
18, w1 37
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9, m=2 50 AR
20. mz3 SO ~_ |2 -

HOUSING For Exercises 27-29, use the
tollowing information.

The two braces for the roof of a house
form triangles. Find each measure.
A sl 52
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